Support Materials


Intermediate 2

Unit 2 Revision

Trigonometry
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1. 
Calculate the area of the pentagon and the parallelogram.
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2.
The diagram shows the side view 

of a house with a sloping roof.

Calculate the size of the angle, x, 

between the two sloping sides of the roof.

[image: image4.png]«—— 69m —»




3.








A farmer owns a triangular piece of land

trapped between 2 main roads and the

farm track.

Calculate the length of the farm track
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to the nearest whole metre.

4.
From a radar station at R, signals from

two ships are picked up.

Ship A is on a bearing 041from R and

is 65 kilometres away.

Ship B is on a bearing 295from R and

is 53 kilometres away.

Calculate how far apart the two ships are.
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5.








The diagram shows a roof truss.

Calculate the size of the angle marked

x between the wooden supports.  
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6.
Two guy ropes are used to restrain a balloon.

The ropes are tethered at points 100 metres apart.

x = 36o and y = 52o.

Calculate the height the balloon 

is above the ground.
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7.


From A the angle of elevation to the top of the cliff (C) is 37o and from B the angle is 28o.

Calculate the height of the cliff (CD).

Round your answer to 2 sig. figs.

Simultaneous Linear Equations

1.
By drawing the graphs represented by the following equations, solve each pair of simultaneous equations graphically.

 
(a)
x + y = 6  


(b)   
x – y = 4

   

      y = x 


         x – 2y = 6
2.
Solve each system of equations algebraically: -

(a)
 2p – 3q = 1 


(b)  
2x + 4y = 14    
         (c)      2v + 3w = 0

 3p + 2q = 8     

           7x + 3y = 27                                          v = w + 5
3.
At a supermarket, a lady paid £2.70 for 6 red peppers and 5 corn on the cobs.

At the same supermarket, a man paid £1.20 for 3 red peppers and 2 corn on the cobs.

How much will 2 red peppers and corn on the cobs cost?

4.
120 people went to the school show. Adult’s tickets cost £6 and children’s cost £2.50. Altogether £405 of ticket money was collected.


How many children and how many adults went to the show?
5.
An adult’s ticket for the cinema is £4 more than a child’s ticket.

The adult’s ticket is also twice that of the child’s.

Find the price of each ticket.

6.
The sum of two whole numbers is 112, and their difference is 36.

Find the two numbers.

Statistics

1.
During one week a man recorded at noon, the wind speed, in knots, in his garden.
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(a)
Find the mean and range.


(b)
Find the median and semi-interquartile range.


(c)
Calculate the standard deviation.


(d)
The following week the man measured the wind speed again this time the mean 

was 8 knots and the standard deviation was 4 knots. 

Comment on the wind speed each week.

2.
(a)
Calculate the mean and standard deviation for this set of data: -




  4

  8

  3

  9

  2


(b)
Write down the mean and standard deviation for this set of data: -




104

108

103

109

102

3.
Draw a box plot for the following set of data: -
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